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Answer the following questions:
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Choose the correct answer:
A. The distance between two
successive ( z) lines in the myofibril is
known as

Sarcoplasm

The sarcomere
The sarcolemma

The semi-lighted area (H )
zone
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Choose to answer one guestion: ( A)

or(B)

write the Scientific Term:

A- A non-surgical method of
contraception which prevent the
entrance of sperms into the vagina of
human female.

B- Growth of a plant and animal tissue
in a semi natural nutritive medium and
their differentiation into a complete
organism.
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Choose to answer one guestion: (A ) or o
(B) (90
(A) DNA ligase enzyme
(B) Restriction enzymes.

s Adlh g 1< Jﬁ
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o Comparebetween:

Point of comparison The glenoid cavity Acetabulum
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Site
Ol

Function
Rl
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=m 5. Give reasons for: sl e s
- wﬁ - }

- Blood is in continuous movement inside
the blood vessel..

1) Eiaay )il A
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=m"6.  What happens if the B lymphocytes
recognize the antigen at the first time?
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. Name the part labeled (1).

. Mention the chromosomal number of
the label (2)

. What is the importance of the label
number (2)?

. What is the type of reproduction in
this stage?




== 8. Draw a diagram to show the reproduction by

sporogony in the bread mouldfungus..
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Explain how to obtain a new
individual from a haploid egg without
fertilization.
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== 10. Choose to answer only one question

. (A)or(B)
What would happen if :
A. The two strands of DNA are not
run at opposite directions of
each other.

(A) Deoxyribonucleaseenzyme is added
to a sample of DNA molecules
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=m11. Give reasons for :
The interferon's are important in
treatment of viral diseases.
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== 12 Choose to answer only one guestion

- (A)or(B)
Mention the site and the function of :
A) Nucleolus.
B) The two ovaries of the human
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=13 pow o8 WY
o =2 Compare between:

Point of comparison FSH hormone Progesterone hormone
Al 4a

Site of production
Y ol

Function
A )

Mention the scientific term: ) :S‘f’d_‘ CJM‘ f?"\i
A single-ring nitrogenous base that ) A g i eae

3018 o Lasi 53 dlal)

attaches with the nitrogenous base of . N
’ il s ) AL At 5

the complementary nucleotide by
two Hydrogen bonds.
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What would happen it . EPATI

Amoeba are subjected to a bad
environmental conditions




am16. Study the diagram and then answer :
- 1- What is the

importance
of the
structure
labeled
(1)?
2- Name the
part labeled
(2).
3- Mention the type of this Joint.

4- Name the label (z) which connect the
femur bone with fibula.
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wm 17.  Show by a labeled diagram only a

- (T.S) in the human testis




What is the importance of thyroxine
Hormone in our bodies?

o 18.
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== 19. Choose to answer one question: (A)
- or (B)
Choose the correct answer:
A. The chemical molecule which read
the language of Amino Acid in the
cytoplasm is:

B. The anticodon is found on the
molecule of :

DNA
m RNA
t RNA

r RNA
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mRNA (1)
tRNA (2)

rRNA &)
DNA (2)
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=m 20. Choose to answer one guestion: (A )
or ( B) Compare:
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A.

origin of DNA replication in Prokaryotes
3 sill il o 3 DNA el

origin of DNA replication in

Eukaryotes
3l Cibias 8 DNA  aclial




(<)

The genome in prokaryotes the genome in eukaryotes
3 sill il oY sl (s siaall 8 il culidiial sl (g giall

What happens _if the amount of i"ﬁ\\hl N ‘jj‘ . '“;
_proteln in sc_)matlc cells of eukaryot(_as . e sLtie Lol
in equal while the amount of DNA in ¢ AY mo e Calid3 DNA
differ from one tissue to another? el

=m 22. Give reasons for : w"’_““ ﬁ Y
- The secondary immune response is L5 Aol ALl At
much faster than the primary immune Ao liall 48 it Len sl
response




=@ 23. Give reasons for : Jo=dlahaym e LYY
- The amount of Adrenaline Hormone
Increases during emergency situations.
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=='24- What would happen if G 1d) Gaan 1l
Achilles tendon is subjecting to tearing?

am 25. Study the figure JE N A | T I 1

<.and then Answer ol 2 el
1. Name what are A) iy el al S5 Y
labeled (A)and € | (A)ad okl o (é)}‘
- (B). s TA ) S Al S3 1Ll
2. What is the |38 Gu}\j K “(“:‘:'U:" A
importance the ¢ 4 (C) oaandl
structure number (A)?
3. Where is this organelle (C) formed
within the cell?




Compare between:

:QJ@ Al

Parthenogenesis in living organisms
Laad) sl o Sl A gl

Parthenocarpy in living organisms
Al sl b s aell LY

Compare between:

RNA Polymerase enzymes in prokaryotes
8l il o) A RNA 3_eldl il 33l

Eukaryotes RNA Polymerase
enzymes in
8 sall lisias 8 RNA 3l Cilay 3

B f LY Al YA

== 28. Choose to answer one guestion: (A) () 3 (1) o seddl

= or (B)
Compare:

B

the immune role of bone marrow
allaall gl e liall sl

the immune role of thymus gland




(<)

mechanisms of antibodies lysis
saliaall aluaa DU Jlail) 4301

mechanisms of antibodies

Neutralization
Balizaal) aluea DU Jalaill 40

Compare:

Chromosomal mutation

Gene mutation




== 30. Choose to answer one gquestion (A) or

(B)

Write its scientific term:
(A) A group of muscle fibers

supplied with one nerve fiber.

(B) The most acceptable theory to
explain the mechanism of
muscle contraction

Aaf e ey i LY.
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=m 31. What would happen in case of :

First: the presence of ATP molecules
Second: the shortage in muscle fiber.
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sm 32, What is the importance of muscle
contraction?

=='33- Mention the site and the function of
secretory nerve cells .

5 _ydall dpuanll LAY

=='34- Show by using a complete labeled
diagram the lateraconjugation in
spirogyra.
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Comparebetween:
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Point of comparison
Aadll 4a

contraceptive bills

surgical sterilization

as a method of
contraception
B A asii sl
Jaall

mm 36.

u Compare between:

immune role of chemokines
CLS gaSl e lial ) 5l

immune role of interlinking
Gl ol O e lia) 5l




=@ 37. Choose to_answer one question (A) or
. (B)
What would happens when :
a) Absence of TS lymphocytes from
the body .
b) Absence of TH lymphocytes from
the body
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Choose to answer one guestion: (A) (@) (1) cdoad)
or(B) s dasaall 4laY) Al
Choose the correct answer: Sasusas SIS
(A) Each Eukaryotic chromosome is 5 55 Bl il i

madeof :
(a) Single DNA strand

DNA

@ One molecule of DNA o aal e e
Ay
(¢) Two molecules of DNA DNA

One molecule of DNA and Oe Ol
one molecule of RNA DNA
If you have a gene ( X ) consists DNA o~
of 270 nucleotides, so the RNA 525

numbers of Amine Acids in a
polypeptide chain translated
from it will be :

90 Amino Acids

45 Amino Acids
44 Amino Acids

135 Amino Acids

& OlarilS gl aae S 1A . @
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=m 39. Choose to_answer guestion (A) or (B)

- What would happenwhen :
A. Absence of modification enzymes

from E-.Coli Bacteria.

B. Absence of polyadnine tail from
mMRNA Molecule
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== 40. Give reasons for :

= The genetic stability in living
organisms is related to the presence of
DNA molecule an a double helices
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What is meant by immunity?

3alal eliall Heall <3 £Y

What is the Immune role of histamine? Cpaliceg)

== 43. What is the importance of the human
genome?




== 44. Explain the role of promoter during
MRNA transcription?

fM-RNA Feus ¢l jiaall

== 45. qgive reasons for:
- The B-Lymphocytes are highly
specialized
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